HTAEZEANBBERER—ER

SH2E6 A1HRE

[riz) =3
SV -FTEREXEERER
B % BEALEEREYN B 4 BEALGEEHEYR BEALEEREYR B 4 BEALRBEREEH
] & &t 2 % &t ] & &t ) % &t
AF ERNEF 0 0 0 | KRFKH+ 607 657 1,264
AFFNEF 0 0 0 | RFHEFI 2976 3,081 6,057
AFTHE 0 0 0 | K=HEH0 0 0 0
= HIIET 1,415 1,420 2835 |[FARKE1TH 754 827 1,581
I=#85TH 1,442| 1431 2873 |[FARKE2TH 334 327 661
I=#&6TH 3,875| 3849 7,724 |FRKE3TH 921 953 1,874
AFERE 7,214| 7,486 14700 |FAXE4TH 675 684 1,359
| RFIEm 8 RIFT 1,158] 1,246 2404 |[KFAEEX 0 0 0
AFEX 1,562| 1,628 3,190 [ KFX=REH 0 0 0
KFIEE 261 300 561
(R FiEEET 187 185 372
RFé] 793 816 1,609
AFEAR 1,158 1,204 2,362
RFEFAF 493 533 1,026
RFREAR 2265 2235 4,500
ARFEFEFHH 278 274 552
AFEHELR 110 110 220
RF EEHARRM 0 0 0
AFAEWES 1,849| 1,928 3,771
RFELIE 1,373| 1,408 2,781
AF-YE 883 918 1,801
| A= 8% A 27 441 455 896
KFFEK 15 17 32
AFHERAAFFTH 5 6 11
SBARI1TH 39 39 78
SBARI2TH 43 38 81
EAE1TH 28 29 57
EAE2TH 49 51 100
ZEAEISTH 81 64 145
759 1,422| 1,522 2,944
AFEIR 485 480 965
RF = KH] 229 224 453
AFIERAB/R 1,125| 1,144 2,269
RF B 922 947 1,869
AFERH 441 436 877
o = ] £ 5
H A 37,908 38,952 76,860
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X
SWVETM IR EEEEEESES
B % BEALEEREYR BEALGEEHEYR BEALEEREYR B 4 BEALRBEREEH
% ESS &t £ S &t 2 % it 2 % it

AFAE 0 0 0
RFABK 0 0 0
REET4ATH 2478 2585 5,063
HARABI1TH 1,889 1,894 3,783
HARAI2TH 2315 2393 4,708
AFHEE 0 0 0
BHEE1TH 4740| 4,045 8,785
HER2TH 6,338| 6,785 13,123
HERISTH 2,360| 2385 4,745
&5 IET2 T B 2066 2178 4,244
RFEMEE 0 0 0
=EEE1TH 4172| 4402 8,574
=EEET2TH 2742 2587 5,329
=EEE3TH 2,853 2890 5,743
=EEET4TH 2,659 2607 5,266
SHE1TH 2,899 2699 5,598
SHEI2TH 1,750| 1,684 3,434
Al Fr BT 2441| 25217 4,968
ZRHT 3913 3884 7,797
WEME1TH 2033] 2148 4,181
WEMET2TH 500 733 1,233
| 2R AT 1,503] 1,704 3,207
AFELE 0 0 0
I BT 215 230 445
T=281TH 2473] 2608 5,081
T=2@2TH 2250|2324 4574
4 FIET 1,637] 1,672 3,309
KFEFEAER 0 0 0
| A SERET 4526 4789 9,315
WE1TH 0 0 0
BiB1TH 0 0 0

B2TH 0 0 0

B3TH 0 0 0

P = 5 = it
= H 60,752 61,753 122,505
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SH2E6 A1HRE

RERX
SV ETAEREREEEZER
B % BEALEEREYR B 4 BEALGEEHREYR B 4 BEALEEREYR B 4 BEALRBEREEH
] & &t 2 % &t ] & &t ) % &t

KXE6TH 184 186 370 | FET1TH 139 143 282
KXE7TH 185 209 394 | TEI2TH 119 105 224
JLEET1TH 1,297| 1,362 2,659 | FHTSTH 985 1,093 2,078
JLERT2TH 1,276] 1,250 2526 |FHET1TH 635 633 1,268
EHEET1TH 507 497 1,004 |RET2TH 694 698 1,392
HEET2TH 544 557 1,101 |#AKBT1TH 529 592 1,121
HEE3TH 517 555 1,072 |#AKBT2TH 614 568 1,182
EHEET4TH 527 590 1,117 |# KBTS TH 529 560 1,089
ERAT1TH 464 497 961 [#xAHT4TH 2513|2486 4,999
ERAT2TH 589 596 1,185 [$5MT 2 1 3
XBE1TH 1,855| 1,925 3,780 | AFKET1TH 1,754| 1,751 3,505

BEI2TH 2,049 2104 4,153 [ KALET2 T H 1,235 1,251 2,486
EDNE1TH 1,909| 2,003 3912 | KpiEI3 T H 1,917] 1,929 3,846
EDQNET2TH 729 767 1,496 (#5871 T B 2,734| 2786 5,520
EDKNEST H 877 927 1,804 |=#81TH 3,716] 3,896 7,612
FHEAT1TH 553 610 1,163 |[=4#82TH 2507| 2428 4935
FHEMT2TH 1,168] 1,364 2532 |=#E3TH 723 718 1,441
SE2H1TH 801 860 1,661 |=484TH 2211|2270 4481
=SE2H2TH 554 592 1,146 |_F /AT 4199| 4,201 8,400
=S2m3TH 270 293 563 | KE{HEI1TH 0 0 0
=S2M4TH 3 3 6 | AE{FHET2TH 0 0 0
TFHE1TH 977 916 1,893 | KE{HFHETITH 0 0 0
TF@2TH 309 307 616
TFHES3TH 606 590 1,196
=R1TH 73 72 145
=EE2TH 165 148 313
=RI3TH 349 324 673
=EE4TH 435 338 773
=RISTH 298 212 510
KFRT1TH 11 12 23
KFRT2T B 22 21 43
KFRI3TH 575 624 1,199
{HhET1TH 31 26 57
{HhET2TH 41 29 70
{HhEI3TH 212 169 381

o = ] £ 5
=

A 48,717 49,644 98,361




HTAEZEANBBERER—ER

SH2E6 A1HRE

RAX
SV -FEFHRAREREEEZER
B % BEALEEREYR B 4 BEALGEEHEYR B 4 BEALEEREYR B 4 BEALRBEREEH
] & &t ] % &t ] & &t L] % &t
RINEBT1TH 3,564| 3,651 7,215 |JOEE1TH 1 3 4 |EE2TH 874 865 1,739
KIMERI2TH 3223|3365 6,588 |MIAE2TH 1 0 1 |Z[M3TH 1,107| 1,051 2,158
RFH 3 1 4 | KRFFEILFHE 4 2 6
WEI2TH 1 0 1 [ KFERI 2 1 3
| 3 15 T 3.436] 3,509 6,945 | KFBRF 295 295 590
AFE 0 0 0 | KFXB 3,726 35895 7,621
I=1) 2019] 2121 4,140 | KFEZ 4180 4,327 8,507
ER1TH 196 210 406 | KF R EF 1,766/ 1,885 3,651
Ef2TH 170 175 345 | K=F S PFIRI 1,723| 1,673 3,396
BHA=1TH 1,301] 1,253 2554 | KFHRETF 1,333 1,506 2839
BKAXE2TH 1,152 1,202 2354 |RETF1TH 76 89 165
BAXE3TH 970] 1,154 2124 |RETF2TH 189 182 371
BKAXE4TH 2251| 2283 4534 |RETF3TH 50 50 100
HAES5TH 1,314 1,313 2,627 | KFFIR 1,239] 1,356 2595
BKAXE6TH 1,577 1,542 3,119 | K¥FFEE 298 286 584
BAXE7TH 2059] 2017 4,076 (F{E1TH 607 579 1,186
RFHHl 791 792 1,583 [iF{E2TH 431 406 837
A1 TH 173 170 343 |E#ESTH 629 610 1,239
|F#I2TH 63 56 119 [#E4TH 0 0 0
| FHIER 8 6 14 i#E5TH 100 86 186
KFEW 221 244 465 |EFH1TH 1,489 1,610 3,099
RFEH 283 265 548 |EH2TH 273 370 643
281TH 106 99 205 |EFH3TH 653 666 1,319
2482TH 69 61 130 |EEH4TH 636 630 1,266
2A3TH 293 318 611 | K=FHh 4k 594 571 1,165
RFEERHH 1,702| 1,859 3,561 |3~ UsHT 1,154| 1,061 2215
RFHEA 124 118 242 | RFE /T 59 yal 130
KFf 2,728 2829 5557 |~ /E1TH 43 54 97
AFEFE 2,938 3053 5991 |y &/iE2TH 3 4 7
AFEHHN 3,843| 3963 7,806 |E4AE3TH 125 135 260
KEH)I| 3.239] 3412 6,651 |~ &E4TH 42 34 76
ARFEELLO#HE 307 334 641 | KF/INEE 2486 2595 5,081
AFFEILFFE 17 16 33 [EIAT1 T H 0 0 0
AFEHEIMFHE 38 26 64 |EHIET2 T B 10 41 51
RENMBEHFH 1 2 3 | EFM1TH 631 634 1,265
A = 5 L8 it

= A 67,009 69,042 136,051




HTAEZEANBBERER—ER

SH2E6 A1HRE

PREX

SWEFTHRREEEERER

B % BEALEEREYR B 4 BEALGEEHEYR B 4 BEALEEREYR B 4 BEALRBEREEH
] & &t 2 % &t ] & &t ) % &t
RFELES 0 0 0//\FF4TH 244 269 513
+EEB1TH 1,208] 1,391 2,599 |\EFF5TH 741 796 1,537
+t®E&2TH 1,515| 1,656 3171 | FIE1TH 701 664 1,365
+E&3TH 928 945 1,873 | FIgE2TH 783 771 1,554
LEE4TH 331 356 687 | LIE3TH 603 579 1,182
+tEE&5TH 803 772 1575 | FIEATH 399 423 822
L%E&E6TH 1,047| 1,047 2,094 [ABFE1TH 25 29 54
+EE7TH 1,067 1,173 2,240 |MEEG2TH 253 267 520
L%E&E8TH 613 678 1,291 |MFAIFR3 T B 94 121 215
+#EE9TH 453 484 937 |MP5R4 T B 441 444 885
AFTEE 1,467| 1,648 3,115 [MBFEST B 613 612 1,225
T%&2TH 712 799 1,511 |Ap#R6 T B 68 65 133
T%&3TH 765 875 1,640 |MBHE7 T H 235 229 464
T%&4TH 649 648 1,297 % F1TH 588 613 1,201
T&A5TH 536 567 1,103 [#FE2TH 419 398 817
T%&6TH 809 821 1,630 | ABIFE1TH 574 537 1,111
TEA7TH 592 597 1,189 | ABIFE2TH 385 440 825
$HAR1TH 70 82 152 |AETFEIT B 748 786 1,534
$BHB2TH 520 541 1,061 |ABIFEATH 565 564 1,129
$HA3TH 575 542 1,117 |ABIFESTH 539 573 1,112
HB4TH 1.214] 1,273 2,487 | AETFE6 T H 123 144 267
BHA5TH 439 425 864 |ABTE1TH 443 491 934
$HB6TH 589 576 1,165 |ABTE2TH 496 508 1,004
$HR7TH 1,179 1,240 2419 | RETER3TH 489 460 949
$HA8TH 423 435 858 |ABTEA4TH 741 781 1,522
$BHBOTH 126 97 223 |AHTHES5TH 679 703 1,382
XE1TH 944 921 1,865 | ABTE6TH 456 454 910
KXE2TH 386 365 751 |[ABIE7TH 1,330 1,286 2616
XE3TH 491 511 1,002 |3 EBE1TH 810 809 1,619
KXE4TH 681 713 1,394 |3ihB2TH 549 603 1,152
XE5TH 883 943 1,826 |3 EBE3TH 641 639 1,280
KXE6TH 573 606 1,179 |#ihBA4TH 1,010 1,063 2,073
NEF1TH 78 82 160 (B ESTH 956 972 1,928
NEF2TH 381 419 800 | FrERiLy 22 30 52
ANFEF3TH 824 793 1,617
o = ] £ 5
=

H 41,634 43,144 84,7178
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X
SV -FEFTRREXEERER
B % BEALEEREYR B 4 BEALGEEHEYR B 4 BEALEEREYR B 4 BEALRBEREEH
] & &t ] % &t ] & &t L] % &t
RFFE 0 0 0 |FTR1TH 412 382 794 | KRFHFIEXR 0 0
FEE1TH 329 306 635 |BATB82TH 362 391 753 | X HF0REED 0 0
FEE2T B 943 884 1,827 |BTA3TH 668 588 1,256
FEE3TH 845 830 1,675 BT84 TH 371 300 671
FEEAT B 1,254| 1,278 2532 | AFETE 0 0 0
FEES T H 468 481 949 |FLE1TH 515 519 1,034
FEE6T B 889 818 1,707 |FAEfE2TH 1041 1,073 2,114
(FEIE7 T B 1,038 1018] 2056 |[KFHE 0 0 0
FEES T H 663 662 1,325 |HE1TH 858 812 1,670
FEEOTH 613 609 1,222 |FHE2TH 379 335 714
FEIE10T H 306 316 622 |HE3TH 163 158 321
AFH 0 0 0|88E4TH 325 297 622
AFHE 0 0 0 | KRFEM 0 0 0
HE1TH 662 677 1,339 |F01TH 571 516 1,087
HE2TH 572 559 1,131 |%F02TH 772 752 1,524
HE3TH 933 899 1,832 |XF13TH 712 701 1413
HEA4ATH 976 934 1,910 |XF04TH 510 468 978
HESTH 586 537 1,123 |XF5TH 563 534 1,097
HE6TH 1,226 1,407 2,633 |%F16TH 544 463 1,007
HE7TH 76 92 168 | KFILAGR 0 0 0
HESTH 240 196 436 [ILAR1TH 362 359 721
HEOSTH 221 182 403 [ILAR2TH 506 497 1,003
HE10TH 663 655 1,318 | KF ERXAR 1,949| 1,877 3,826
RFHiH 0 0 0 | XFTRAR 2,005 1,622 3,627
1T R 484 466 950 | KFRKARBER 2511 2723 5,234
B2 T B 208 196 404 | KF#HE 2,185 2,099 4,284
HBEASTH 11 11 22 | KFE# 2985 3,003 5,988
$7EE4 T H 0 0 0 [KRFHR 173 171 344
RFES 7 3 10 | KFE 267 247 514
HEIE1TH 284 268 552 | KF R 771 799 1,570
EiZ2TH 1,254] 1,231 2,485 | KFIFAR 679 689 1,368
LEIZE3TH 432 386 818 | XFHEFD 0 0 0
Ei24TH 0 0 0 |#4@H1TH 316 329 645
Ei55TH 0 0 0 |#4H2TH 550 548 1,098
AFHE 2 0 2 |##@E3TH 152 141 293
o = 5 £ i
= a
40,362 39,294 79,656




HTAEZEANBBERER—ER

SH2E6 A1HRE

SAMX
SV -FEAUHNREREEEZER
EH]' % BEALBEZEREYR EH]' % BEALZBEEREHN EH]' % BEALBEZEREHR EH]' % BEALBEEREHN
] & &t ] % &t ] & &t L] % &t
EE1TH 647 668 1,315 |$t5A/3TH 693 735 1,428 |gith2 T H 537 562 1,099
EE2TH 631 666 1,297 |8t B84TH 1,008 1,326 2334 |Fi#3TH 765 773 1,538
=E3TH 467 490 957 | ERIZ1TH 1,432] 1,569 3001 |[AK1TH 1,598| 1,821 3,419
EE4ATH 992 1,090 2082 | FKRIB2TH 943| 1,075 2018 |[AK2TH 1,164 1,280 2,444
ERISTH 584 590 1,174 | EKIE3TH 724 686 1,410 |[AAS3TH 1,127] 1,182 2,309
EE6TH 761 786 1,547 | EXRIB4ATH 684 692 1,376 |[AAX4TH 692 751 1,443
EE7TH 1013|1069 2,082 | L KI5 T H 535 539 1,074 |[RAASTH 955 993 1,948
=1 1,114] 1,160 2274 | ERIB6TH 1032 1,064 2,096 [STET1TH 1,059] 1,115 2,174
=1TH 202 260 462 | RIF7TH 461 520 981 |JtHT2TH 1,404 1,556 2,960
=M2TH 291 353 644 | ERIZSTH 242 248 490 [JTHT3T H 793 842 1,635
=3TH 522 540 1,062 | KIE1TH 549 561 1,110 | X#E1TH 1,226/ 1,309 2,535
=4TH 665 729 1,394 | KIE2TH 696 711 1407 | K#E2TH 755 834 1,589
EX=2 0 750 798 1,548 | KIE3TH 284 281 565 | KE3TH 583 631 1,214
HET1TH 572 702 1,274 | KiF4TH 732 775 1,507 | RF = IF 5 7 12
HEI2TH 643 731 1,374 | KI5 TH 869 946 1,815 [#B1 T H 481 512 993
{HEISTH 685 742 1,427 [$BR1TH 749 778 1,527 |#B2 T B 691 733 1,424
HEI4TH 7217 796 1,523 |[$BXR2TH 488 489 977 |2 LT 795 870 1,665
B BT 1,376] 1,555 2,931 |$BZR3TH 799 799 1,598 |EF{FET1TH 0 0 0
ER1TH 1,198| 1,313 2511 |fERATH 607 629 1,236 [iEFN{HET2T H 0 0 0
EHE2TH 916 998 1,914 |$8R5TH 488 519 1,007 |EF{FEIST B 0 0 0
HHE3TH 1,365 1,490 2,855 |$EXR6TH 883 924 1,807 |iEF{FET4AT B 0 0 0
EHEATH 647 730 1,377 |$BX7TH 991 1,102 2,093
EHES5TH 845 943 1,788 |#A~ 51T H 674 720 1,394
EiE6TH 492 488 980 [~ IE2 T H 809 847 1,656
ER7TH 568 609 1,177 |$E~ 53T H 547 640 1,187
HHE8TH 428 496 924 |F4IZATH 686 771 1,457
EHROTH 1,362| 1,388 2,750 |#F~ 55T H 793 837 1,630
Hi210TH 1,258 1,365 2,623 |EAi51TH 748 761 1,509
dEF1TH 1,186 1,383 2,569 |EAiZ2T B 121 109 230
@2 TH 1014] 1,073 2,087 | KIR1TH 288 331 619
JL;EFIS T H 1,079 1,228 2,307 | KIR2TH 180 216 396
JtiEFn4 T H 170 203 373 | KIE3TH 9 7 16
JtiEf5TH 1,527 1,615 3142 | K[FATH 12 0 12
#$yB/1TH 783 847 1,630 | KIE5TH 0 0 0
o B82TH 1,083] 1,071 2,154 |Biiih1 T H 1009 1,070 2,079
A = 5 £°8 &t

= A 64,958 70,013 134,971




BT A& FE AN B ST AR —
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SH2E6 A1HRE
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SV -FTRREXEERER
B % BEALEEREYR B 4 BEALGEEHEYR B 4 BEALEEREYR B 4 BEALBEHRER
] & &t ] % &t ] & &t L] % &t
A#151TH 1080 1.112] 2,192 |RIFF4TH 287| 289 576 |N#5T H 1103] 1061 2,164
A#£152TH 855/  808| 1663 |BIAFSTH 575|  588] 1.163 |NA6TH 10881 9511 2,039
EEM1ITH 1,256 1,259 2,515 |BIFF6 T H 746 709 1,455 |WA7TH 810 758 1,568
EEM2TH 1,591 1,542 3,133 |RIFF7 T H 1,424| 1,454 2878 [MA1TH 621 637 1,258
BEEM3TH 3,048 3,160 6,208 |#BiF1TH 872 881 1,753 |IMA2TH 588 540 1,128
EEM4TH 102 78 180 [4BE2TH 698 695 1,393 |MA3TH 619 566 1,185
AFAHE 3,726/ 3,868 7594 |#BF3TH 976 973 1,949 |FIAHET1TH 459 515 974
AHZE2TH 881 938 1,819 [{RF4TH 552 542 1,094 |FIARHET2TH 915 959 1,874
AHZEATH 749 814 1,563 R E5T B 1,385 1,500 2,885 [#BA1TH 454 478 932
AHBESTH 1.217] 1,202 2419 5BE1TH 3,058 3210 6,268 |#BA2 T H 198 186 384
RAFERAO 6,894 7.196| 14,090 ;BE2TH 717 721 1,438
RFMEIEF 1,078| 1,058 2,136 |iA%3TH 66 34 100
RFELRE 946 994 1,940 |BS1TH 239 214 453
Big1TH 462 350 812 |B§2TH 271 249 520
Big2TH 445 433 878 |BEF®1TH 498 514 1,012
HiE3TH 1,263| 1,312 2,575 |EEFR2TH 459 482 941
B4 TH 1,746 1,826 3572 |EEFR3TH 805 763 1,568
HiE5TH 1,062| 1,060 2122 |EEFRATH 1030 991 2,021
Big6TH 1,113] 1,081 2,194 |EEFR5TH 1,045| 1024 2,069
$1TH 1,181| 1,153 2,334 |EEFR6TH 922 893 1,815
2TH 943 931 1874 |BEFR7TH 996 976 1,972
53TH 782 791 1,573 | KF1E4} 0 0 0
st4TH 1,013 938 1,951 [#AKR1TH 743 697 1,440
515TH 726 733 1,459 [#AK2TH 523 498 1,021
6 TH 273 290 563 [#AAR3TH 614 578 1,192
t7TH 755 730 1,485 [#AKR4TH 539 491 1,030
s18TH 1,062 1,131 2,193 |#IAR1TH 705 652 1,357
IXE1TH 960 953 1,913 |HAA2TH 739 705 1,444
XE2TH 1,311] 1,291 2,602 |HIA3TH 676 656 1,332
| XE3TH 1,702| 1,565 3,267 |#iAR4TH 668 587 1,255
XiE4TH 1,200] 1,192 2,392 |HIARSTH 775 748 1,523
XE5TH 1,183| 1,138 2,321 |[NA/1TH 273 261 534
BFR1TH 579 592 1,171 |AB2TH 411 383 794
BFF2T B 1,090| 1,190 2,280 |NA3TH 793 688 1,481
RFR3TH 1.117] 1,179 2,296 |N&/4TH 827 780 1,607
H A 78,153 77,965 156,118




HTAEZEANBBERER—ER

SH2E6 A1HRE

X
SV -FTRREXEERER
EH]' % BEALBEZEREYR EH]' % BEALZBEEREHN BEALBEZEREHR EH]' % BEALBEEREHN
] & &t ] % &t ] & &t L] % &t

AHZEITH 1,247 1,310 2,557 | KFERA 11 10 21
AHZEITH 750 748 1,498 [ILIG1TH 540 430 970
AFAAO 75 90 165 | KFE% 0 0 0
FW1TH 1,404 1,497 2,901 | KFFTE 0 0 0
FRIW2TH 1,461| 1,532 2993 | KFXRE 0 0 0
FW3TH 698 785 1,483 |HAF1TH 111 126 237
FEIL4TH 1,520 1,683 3,203 |5l KF92T H 663 678 1,341
KFEFE 5908 6,200] 12,108 |ER A3 TH 633 598 1,231
ARFAMA 2,536 2,602 5138 |E121TH 551 632 1,183
RFAEK 1002 1,069 2071 |EE2TH 632 621 1,253
AFFILOFHE 129 139 268 [#AK1TH 491 532 1,023
AFERFH 0 0 0 |[¥AR2TH 462 490 952
RF=F 6,625 7,046| 13,671 |[¥AK3TH 729 776 1,505
EHE1TH 414 500 914 |BEM1TH 508 560 1,068
EHET2TH 461 503 964 |BEI2TH 2,138| 2,040 4,178
E#HI3TH 2717 322 599 |BEMSTH 1,135| 1,188 2323
EHET4TH 787 786 1,573 |BRi#EM4ATH 845 853 1,698
RFXIF 464 380 844 |HHINSTH 700 755 1,455
AFEEpeEst 305 285 590 |HEM6TH 626 617 1,243
AFhEH 237 212 449 |BGEM7TH 1,117] 1,212 2,329
RFELFHE 339 261 600 |BEIIST B 596 637 1,233
AFE 1 42 48 90 |BHFIOTH 506 541 1,047
RERWL 240 216 456 |XE1TH 129 132 261
RFFIL 110 102 212 |EE2TH 53 55 108
KFKXF 3.421| 3456 6,877 |EESTH 389 360 749
KXFILE 41 45 86 |EE4TH 1,476 1,440 2916
AFHE 375 361 736 |XE5TH 630 650 1,280
AFTEH 386 379 765 |EE6TH 316 292 608
AFREIH 93 79 172 | KEAKR2TH 411 404 815
=EA1TH 403 392 795 | KEIASTH 479 511 990
=A2TH 647 644 1,291

ZE1TH 417 447 864

ZE2TH 382 394 776

ZE3TH 712 730 1,442

RF=H 1 0 1

A = x &t
A A
50,786 52,383 103,169




HTAEZEANBBERER—ER

SH2E6 A1HRE

=y A5
SWVEFETEHREEXEEZER
EH]' % BEALBEZEREYR EH]' % BEALZBEEREHN EH]' % BEALBEZEREHR EH]' % BEALBEEREHN
] oS 5t ] % it ] oS 5t L] % it
KFEEH 2,003] 1,949 3952 |FHET1 T H 397 425 822 |JRHAT 448 433 881 | KFH R 122 120 242
AFAH 0 0 0 |FEET2TH 639 665 1,304 | KFERIR 705 654 1,359 | KFEHF 587 614 1,201
AHB1TH 421 457 878 |FEET3TH 463 456 919 | KFER 692 667 1,359 | KFEA 481 477 958
AXH2TH 422 440 862 |FEAT4 T H 614 614 1,228 | KFEAR 409 373 782 | ELEB1TH 318 330 648
AH3TH 42 40 82 |FHATS T H 599 625 1,224 | RFEXAGEHH 218 192 410 | FE2TH 253 269 522
AN1TH 575 573 1,148 | B FHlT 416 422 838 | KFE THH 530 509 1,039 |fREA1T B 237 242 479
AA2TH 328 337 665 | B 0 HiET 685 688 1,373 | XFHE 121 105 226 |52 TH 125 153 278
ANITH 492 520 1,012 |37 598 606 1,204 | KFEAI% 333 318 651 |FREASTH 733| 1,001 1,734
AN4TH 365 378 743 |=BT1TH 359 433 792 | KFE/7IEFH 15 22 37 |FmH4TH 285 363 648
WET1 T H 393 390 783 |=HT2TH 1,026 988 2,014 | KF#.E 243 232 475 |FREASTH 185 193 378
WET2 T H 312 290 602 | KFETH 25 29 54 | K¥F§# EFHH 685 661 1,346 |BEH1TH 249 253 502
BR1TH 211 196 407 |FFE1TH 281 320 601 | XFFh 134 108 242 [REH2TH 128 140 268
HH2TH 447 463 910 |BAFE2TH 300 325 625 | KFEER 221 192 413 |EWSTH 231 241 472
HA3TH 8 4 12 [FAFEEHFITH 413 384 797 | K¥FXH 725 675 1,400 |EH4ATH 536 499 1,035
FHN4TH 173 173 346 [FFEE4TH 330 282 612 | KFHEEF 533 469 1,002 |REHSTH 370 332 702
WE1TH 434 448 882 |FFESTH 115 97 212 | KFIhE 1,304 1,287 2,591 |REHETH 274 264 538
WE2TH 268 265 533 | AFEE 297 259 556 | K= H 853 846 1,699 |EEE1TH 640 620 1,260
WE3TH 208 217 425 | KFXRHE 150 120 270 | KFRERF 838 834 1,672 |EEFE2TH 550 559 1,109
W4T H 445 362 807 | KFisk 174 237 411 | K=¥FRgst 269 279 548 |XEHITH 323 315 638
WESTH 602 574 1,176 | K=FX0O 161 174 335 | KF LBF 312 295 607
HAR1TH 692 704 1,396 | KFAS 134 127 261 | .E¥1TH 436 433 869
Hx2TH 592 612 1,204 | KFXF 248 233 481 | L¥2TH 208 159 367
7R 656 600 1,256 | KFHAEE 102 96 198 | LEF3TH 84 62 146
FEEE1TH 409 393 802 | KF K% 47 48 95 | L84 TH 7 10 17
FEEAE2TH 345 358 703 | KFmE 54 55 109 | L¥F5TH 0 0 0
AET1TH 325 308 633 [JIE1TH 577 573 1,150 | EF6 T H 198 190 388
AEI2TH 412 425 837 |hnE2TH 318 343 661 | KFHTI5H 230 274 504
ARI3TH 284 302 586 |NIE3TH 35 24 59 |G~ 51 TH 12 5 17
ARI4TH 414 453 867 [MIE4TH 615 560 1,175 |&547352TH 19 11 30
AHE5TH 299 304 603 [JIES5TH 514 479 993 | KRFHHEFIR 55 69 124
AEI6 TH 310 346 656 | KF1#1R 212 204 416 | KFEHEEF 803 774 1,577
{HhET1TH 629 615 1244 | KFEEF 138 171 309 | KFER 550 441 991
HET2TH 532 538 1,070 | K= 4015 365 336 701 | K= # 372 343 715
HET1TH 501 481 982 | KFZAR 539 533 1072 | XFEE 524 524 1,048
HE2TH 360 347 707 | KFAT 70 56 126 | KFARTE 717 745 1,462
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47,349 47,025 94,374




